
01284 757500 E-mail: sales@sealey.co.uk
Web:  www.sealey.co.uk01284 703534Sole UK Distributor,Sealey Group,Bury St. Edmunds, Suffolk.

Parts List for:
100MM 800W ANGLE GRINDER
Model: SGE100

ITEM DESCRIPTION PART NO.
01. REAR COVER SGE100/01
02. BLACK WIRE SGE100/02
03. WHITE WIRE SGE100/03
05. SWITCH SGE100/05
06. SPRING SGE100/06
07. WRENCH SGE100/07
08. LOCK BUTTON SGE100/08
09. SIDE HANDLE SGE100/09
10. PINION GEAR SGE100/10
11. BEVEL GEAR SGE100/11
12. TENSION SPRING SGE100/12
13. MOTOR HOUSING SGE100/13
14. SPINDLE SGE100/14
15. SWITCH LEVER SGE100/15
16. SWITCH BUTTON SGE100/16
17. BEARING HOLDER SGE100/17
18. WH�L C�V�R HOLDER SGE100/18
19. BEARING RETAINER SGE100/19

ITEM DESCRIPTION PART NO.
20. BEARING RETAINER SGE100/20
21. STRAIN RELIEF SGE100/21
22. DISC RECEIVER SGE100/22
23. DISC LOCK NUT SGE100/23
24. CORD GUARD SGE100/24
25. SHAFT LOCK PIN SGE100/25
26. BRUSH (PAIR) SGE100/26
27. GEAR BOX SGE100/2728. BEARING BOX SGE100/28
29. WOODRUFF KEY SGE100/29
30. BRUSH HOLDER SGE100/30
31. DISC SGE100/31
32. ARMATURE SGE100/32
33. FIELD COIL SGE100/33
34. WHEEL GUARD SGE100/34
35. BAFFLE PLATE SGE100/35
36. RUBBER PIN SGE100/36
37. C-RING SGE100/37

ITEM DESCRIPTION PART NO.
38. BEARING B/6000-2RS
39. BEARING B/6201-2RS
40. BEARING B/626ZZ
41. BEARING B/607-2RS
42. SCREW SGE100/42
43. SCREW SGE100/43
44. SCREW SGE100/44
45. SCREW SGE100/45
46. SCREW SGE100/46
47. SCREW SGE100/47
48. SCREW SGE100/48
49. SCREW SGE100/49
50. SCREW SGE100/50
51. SWITCH HOLDER SGE100/51
52. CAPACITOR SGE100/52
53. MAINS CABLE MC2CX1.5

Issue:  . . . . . . . . . . . .2
Issue Date:  . . .060405


